
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

DB15
DB14
DB13
DB12

DB11
DB10
DB9
DB8
DB7
DB6

DA15
DA14

DA13
DA12
DA11
DA10
DA9
DA8

DA7
DA6
DA5

DA4
DA3
DA2
DA1
DA0

DB4
DB3
DB2
DB1
DB0

DB5

+3.3V_DAC

+1.8VD

+1.8VCLK

IOVDD

+3.3V_LOGIC

+3.3V_LOGIC

+1.8VD

IOVDD

IOVDD

+3.3V_DAC

+1.8VD

+1.8VD1

+1.8VD1 +1.8VD

IOVDD

DB[0..15] SH2

IOUTA2 SH3,7
IOUTA1 SH3,7

IOUTB1 SH3,7
IOUTB2 SH3,7

DA[0..15]SH2

CLK1CB SH4

CLK1B SH4

/RESET SH2,4

TX_ENABLESH2

/CLKOUT_ENSH2

SDIO SH5

EXTLOSH2

SCLK SH5

SYNC SH2

SDO SH5

SDENB SH5

CLK2CBSH4
CLK2BSH4

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

1 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

1 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

1 7Wednesday, December 23, 2009

DNI = DO NOT INSTALL

PLL LOCK

C32
.1uF
C32
.1uF R87

130
DNI

R87
130
DNI

C9.01uF C9.01uF

C21
.1uF
C21
.1uF

C87
.1uF
C87
.1uF

C24
.1uF
C24
.1uF

C97 .01uFC97 .01uF

+ C11
10uF
10V

+ C11
10uF
10V

C100
.1uF
C100
.1uF

R79

22.1

R79

22.1

C92
.1uF
C92
.1uF

R89

22.1

R89

22.1

R43
130
DNI

R43
130
DNI

C29
.1uF
C29
.1uF

R92
100
R92
100

R83
110
DNI

R83
110
DNI

TP7TP7

U1

DAC5668/88/89

U1

DAC5668/88/89

CLKVDD1
CLK22
CLK2C3
GND4
SYNC5
TXENABLE6
DA157
DA148
IOVDD9
DVDD1010
DA1311
DA1212
DA1113
DA1014
DA915
DA816

D
A

7
17

D
A

6
18

D
A

5
19

D
A

4
20

D
A

3
21

D
A

2
22

D
A

1
23

D
A

0
24

C
LK

0_
C

LK
1

25
LO

C
K

_C
LK

1C
26

D
B

0
27

D
B

1
28

D
B

2
29

D
B

3
30

D
B

4
31

D
B

5
32

DB6 33DB7 34DB8 35DB9 36DB10 37DB11 38DVDD39 39DB12 40DB13 41DB14 42DB15 43VFUSE 44SDO 45SDIO 46SCLK 47SDENB 48

R
E

S
E

TB
49

A
V

D
D

D
18

B
50

A
V

D
D

51
51

IO
U

TA
1

52
IO

U
TA

2
53

A
V

D
D

54
54

A
V

D
D

55
55

E
X

TI
O

56
B

IA
S

J
57

E
X

TL
O

58
A

V
D

D
59

59
IO

U
TB

2
60

IO
U

TB
1

61
A

V
D

D
62

62
A

V
D

D
18

A
63

LP
F

64

PWRPAD65

C113

1000pF

C113

1000pF

R93 750R93 750
D4 LED green

LOCK
D4 LED green

LOCK

JP6
DEFAULT +1.8VA

DNI

JP6
DEFAULT +1.8VA

DNI 1

3
2

+ C90
10uF
10V

+ C90
10uF
10V

+ C33
10uF
10V

+ C33
10uF
10V

MSA

D EN

J21
DAC_CLKOUT

MSA

D EN

J21
DAC_CLKOUT

1

5234

TP3TP3

C95 .033uFC95 .033uF

JP5
DEFAULT +3.3VA

(SHUNT 2-3)

JP5
DEFAULT +3.3VA

(SHUNT 2-3)

1

3
2

C98
.1uF
C98
.1uF

R84
1K
R84
1K

C14
.1uF
C14
.1uF

C78
.1uF
C78
.1uF

C18
.1uF
C18
.1uF

C28
.1uF
C28
.1uF

+ C108
10uF
10V

+ C108
10uF
10V

JP4
DEFAULT +3.3VA

(SHUNT 2-3)

JP4
DEFAULT +3.3VA

(SHUNT 2-3)

1

3
2

U8

SN74LVC1G125DBVR

U8

SN74LVC1G125DBVR

OE1

A2
Y 4

GND3

VCC 5

R86
130
DNI

R86
130
DNI

R94
0
R94
0

SW1

SW RESET

RESET
SW1

SW RESET

RESET
1
2

3
4

R44
100
R44
100

C15
.1uF
C15
.1uF

R91

953

R91

953

R90

93.1

R90

93.1

C99 .01uFC99 .01uF

C93 330pFC93 330pF

TP5TP5

R82
221
DNI

R82
221
DNI

+ C84
10uF
10V

+ C84
10uF
10V

C10.01uF C10.01uF

C101
.1uF
C101
.1uF

R38
130
DNI

R38
130
DNI



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

DA14
DA13
DA12
DA11
DA10
DA9
DA8

DA7
DA6
DA5
DA4
DA3
DA2
DA1
DA0

DA15

DB0

DB15
DB14
DB13
DB12
DB11
DB10
DB9
DB8

DB7
DB6
DB5
DB4
DB3
DB2
DB1

DA_7
DA_6
DA_5
DA_4
DA_3
DA_2
DA_1
DA_0

DB_0
DB_1
DB_2
DB_3
DB_4
DB_5
DB_6

DB_9
DB_10
DB_11
DB_12
DB_13
DB_14
DB_15

DA_15
DA_14
DA_13
DA_12
DA_11
DA_10
DA_9
DA_8

DB_7

DB_8

+3.3V_LOGIC IOVDD

DB[0..15] SH1

DA[0..15] SH1
SYNC SH1

TX_ENABLE SH1

TX_ENABLE SH1
SYNC SH1

/CDC_PD SH4
/RESET SH1,4
/CLKOUT_EN SH1

EXTLO SH1

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

2 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

2 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

2 7Wednesday, December 23, 2009

JUMPER PINS 5 & 6

      JUMPER PINS 16 & 17
      JUMPER PINS 10 & 11

      JUMPER PINS 20 & 21

J5 - JUMPER PINS 1 & 2

R96

22.1

R96

22.1 RN4
4816P-001-220

RN4
4816P-001-220

1
2
3
4
5
6
7
8 9

10
11
12
13
14
15
16

RN3
4816P-001-220

RN3
4816P-001-220

1
2
3
4
5
6
7
8 9

10
11
12
13
14
15
16

RN2
4816P-001-220

RN2
4816P-001-220

1
2
3
4
5
6
7
89

10
11
12
13
14
15
16

RN1
4816P-001-220

RN1
4816P-001-220

1
2
3
4
5
6
7
89

10
11
12
13
14
15
16

J7
TSM-117-01-S-DV-LC

J7
TSM-117-01-S-DV-LC

1
3

2
4

56
78
910
1112
1314
1516
1718
1920
2122
2324
2526
2728
2930
3132
3334

J2
TSM-117-01-S-DV-LC

J2
TSM-117-01-S-DV-LC

1
3

2
4

56
78
910
1112
1314
1516
1718
1920
2122
2324
2526
2728
2930
3132
3334

R88

22.1

R88

22.1

J5

HMTSW-107-07-G-T

J5

HMTSW-107-07-G-T

3
6
9
12
15
18
21

1
4
7

10
13
16
19

2
5
8
11
14
17
20



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

+5VA

+5VA

+5VA

+5VA

+5VA

+5VA

IOUTB2SH1,7

IOUTB1SH1,7

IOUTA2SH1,7

IOUTA1SH1,7

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

3 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

3 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

3 7Wednesday, December 23, 2009

DNI = DO NOT INSTALL

NOTE 1

NOTE 1

NOTE 1:  For TRF3703-17 configuration

R47, R53, R66, R59 = 124 ohm
R97, R106, R114, R115 = 453 ohm
R48, R54, R67, R60 = 499 ohm
C114, C116, C117, C118 = 10uF (installed)

L5

68nH

L5

68nH
1 2

C116 .01uF

DNI

C116 .01uF

DNI

R47
115

R47
115

C25

22pF

C25

22pF

L3
10nH
L3
10nH

1
2

R64
0
R64
0

+ C83
4.7uF
20V

+ C83
4.7uF
20V

L6

68nH

L6

68nH
1 2

L8
10nH
L8
10nH

1
2

C91
.1uF
C91
.1uF

R61

60.4

R61

60.4

R115

0

R115

0

C94
3.3pF
C94
3.3pF

+ C86
4.7uF
20V

+ C86
4.7uF
20V

C17
2.7pF

C17
2.7pF

R48
634

R48
634

C23
DNI
C23
DNI

C13
4.7pF
DNI

C13
4.7pF
DNI

C26
2.2pF

DNI

C26
2.2pF

DNI

C85
1000pF
C85
1000pF

C12
4.7pF
DNI

C12
4.7pF
DNI

R40
90.9
R40
90.9

C96
3.3pF
C96
3.3pF

R59
115
R59
115

R62

49.9

R62

49.9

R60
634
R60
634

C88
.1uF
C88
.1uF

68 ohm @ 100MHz

FB10

68 ohm @ 100MHz

FB10

C20

100pF

C20

100pF

R46

0

R46

0

U5
TRF3703-33

U5
TRF3703-33

NC11
GND2
LOP3
LON4
GND5
NC26

N
C

3
7

G
N

D
8

Q
N

9
Q

P
10

G
N

D
11

G
N

D
12

VCCI 18
GND 17

RFOUT 16
NC5 15
GND 14
NC4 13

G
N

D
19

G
N

D
20

IP
21

IN
22

G
N

D
23

V
C

C
2

24

R63
0

R63
0

R52

60.4

R52

60.4

C118 .01uF

DNI

C118 .01uF

DNI

C31
4.7pF
DNI

C31
4.7pF
DNI

C117 .01uF

DNI

C117 .01uF

DNI

C30
4.7pF
DNI

C30
4.7pF
DNI

R97

0

R97

0

R50
0

R50
0

R65

60.4

R65

60.4

MS A

DE N

J23
RF_LO_IN

MS A

DE N

J23
RF_LO_IN

1

5234

R66
115
R66
115

R114

0

R114

0

L9
10nH
L9
10nH

1
2

C89
1000pF
C89
1000pF

R56

0

R56

0

R53
115
R53
115

R70
90.9
R70
90.9

R106

0

R106

0

C22
DNI
C22
DNI

C114 .01uF
DNI

C114 .01uF
DNI

C27
2.7pF

C27
2.7pF

MSA

D EN

J6
RFOUT

MSA

D EN

J6
RFOUT

1

5234

R54
634
R54
634

C16
2.2pF
DNI

C16
2.2pF
DNI

R51
0
R51
0

C19

22pF

C19

22pF

L7

68nH

L7

68nH
1 2

68 ohm @ 100MHz

FB11

68 ohm @ 100MHz

FB11

L2
10nH
L2
10nH

1
2

R49

60.4

R49

60.4

R58

0

R58

0

R67
634

R67
634

R69

0

R69

0

L4

68nH

L4

68nH
1 2



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

V_CTRL

V_CTRL

+3.3V_LOGIC +3.3V_LOGIC

AVCC

+3.3V_LOGIC

+3.3V_LOGIC

+3.3V_LOGIC

+3.3V_LOGIC

+3.3V_LOGIC

+3.3V_LOGIC

+3.3V_LOGIC

AVCC

+3.3V_LOGIC

/CDC_PD SH2

CTRL_DATA SH5

CLK2CB SH1
CLK2B SH1

CLK1B SH1

CTRL_LE SH5

CLK1CB SH1

CTRL_CLK SH5

/RESET SH1,2

REF_OSCSH7

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

4 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

4 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

4 7Wednesday, December 23, 2009

DNI = DO NOT INSTALL

C5
1uF
20%
25V

C5
1uF
20%
25V

MSA

D EN

J17
OUTCLK3

MSA

D EN

J17
OUTCLK3

1

5234

R19
130
R19
130

C69
.1uF
C69

.1uF
C63
.1uF
C63
.1uF

R5

162

R5

162

U4

CDCM7005

U4

CDCM7005

VCC 13

Y2B 8Y2A 7VCC 6VCC 5

VCC_CP33

AVCC32

NC34

Y3B 12Y3A 11VCC 10VCC 9

VCC 19

REF_SEL35

AVCC39
AVCC38

SEC_REF37
PRI_REF36

VCXO_IN43
VCXO_INB42
VCC41
VBB40

/RESET or /HOLD 14
VCC 15
Y4A 16
Y4B 17
VCC 18

/PD 1
VCC 2
Y1A 3
Y1B 4

VCC 20
VCC 21

STATUS_VCXO or I_REF_CP 22
STATUS_REF or PRI_SEC_CLK 23

GND 24

PLL_LOCK 25
CTRL_DATA 26

AVCC27

CTRL_CLK28 CTRL_LE29

AVCC30 CP_OUT31

VCC44 VCC45 Y0A46 Y0B47 VCC48

C66
.001uF

C66
.001uF

C8

.1uF

C8

.1uF

C3
1000pF

10%
25V

C3
1000pF

10%
25V

R22

150

R22

150

R7
10K
R7
10K

R18

0

R18

0

C72
.1uF
C72

.1uF

R23
130
R23
130

R11
130
R11
130

R27

22.1

R27

22.1

C58
560pF
10%
50V

C58
560pF
10%
50V

C77

.1uF

C77

.1uF

R24
130
R24
130

JP2
VCXOB

(SHUNT 2-3)

JP2
VCXOB

(SHUNT 2-3)

1

3
2

C70
.1uF
C70

.1uF

R10
82.5
R10
82.5

R12
130
R12
130

C74
.1uF
C74

.1uF

JP3
VCXO

(SHUNT 2-3)

JP3
VCXO

(SHUNT 2-3)

1

3
2

R20
82.5
R20
82.5

R15 750R15 750

R6
10K
R6
10K

R9 750R9 750

R30
82.5
R30
82.5

68 ohm @ 100MHz

FB8

68 ohm @ 100MHz

FB8

MSA

D EN

J19
OUTCLK1

MSA

D EN

J19
OUTCLK1

1

5234

+C76
10uF
10V

+C76
10uF
10V

U3

614.4MHZ
DNI

U3

614.4MHZ
DNI

V_CTRL1
EN2
GND3 OUT 4OUTB 5VCC 6

D2 LED GREEN
REF
D2 LED GREEN
REF

R31
82.5
R31
82.5

C71
.1uF
C71

.1uF

R17
130
R17
130

C61
.1uF
C61
.1uF

MS A

DE N

J20
EXT_VCXO

MS A

DE N

J20
EXT_VCXO

1

5234

R21

150

R21

150

R8
4.75K
R8
4.75K

+C57
10uF
10V

+C57
10uF
10V

C65
.1uF
C65

.1uF

R78

0

R78

0

R13
82.5
R13
82.5

C60
.01uF

C60
.01uF

R4
1K
DNI

R4
1K
DNI

C2
.47uF
10%
16V

C2
.47uF
10%
16V

C67
.1uF
C67

.1uF

R16
82.5
R16
82.5

C7

.1uF

C7

.1uF

C6

.1uF

C6

.1uF

C68
.1uF
C68

.1uF

C64
.1uF
10%
16V

C64
.1uF
10%
16V

D1 LED GREEN
LOCK

D1 LED GREEN
LOCK

R32
82.5
R32
82.5

R26
130
R26
130

C75
.1uF
C75

.1uF

R14

0

R14

0

R29 750R29 750

R33
82.5
R33
82.5

+ C56
10uF
10V

+ C56
10uF
10V

R28
150
R28
150

C73
.1uF
C73

.1uF

D3 LED GREEN
VCXO

D3 LED GREEN
VCXO

J1J1
1
2

+ C4
22uF
20%
10V

+ C4
22uF
20%
10V

1
2

MSA

D EN

J18
OUTCLK2

MSA

D EN

J18
OUTCLK2

1

5234

R25
130
R25
130

C62
.1uF
C62
.1uF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

+3.3V_LOGIC+3.3V_LOGIC

+3.3V_LOGIC

+3.3V_LOGIC

SDENB SH1

SCLK SH1

SDIO SH1

CTRL_CLK SH4

CTRL_DATA SH4
CTRL_LE SH4

SDOSH1

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

5 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

5 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

5 7Wednesday, December 23, 2009

CLK

DATA

CTRL_LE

OE

SDEN

SDIO

SDOB

U11

SN74HC241PW

U11

SN74HC241PW
2Y4 3

1A12
1A24
1A36
1A48
2A111
2A213
2A315
2A417
GND10 2Y3 52Y2 72Y1 91Y4 121Y3 141Y2 161Y1 182OE 191OE1 VCC 20

R109 100R109 100
R110 100R110 100

R104 22.1R104 22.1

R101 22.1R101 22.1

R108
10K
R108
10K

R105 100R105 100

C107
.1uF
C107
.1uF

R103 22.1R103 22.1

R111 100R111 100

R100 22.1R100 22.1

U9

FT245RL

U9

FT245RL

USBDM16

USBDP15

VCCIO4

NC18

RESET19

NC224

OSCI27

OSCO28

3V3OUT17

AGND25
GND7
GND18
GND21
TEST26 PWREN 12

WR 14

D1 5

D7 6

D5 9

D6 10

TXE 22

D4 2

D3 11

RXF 23

D0 1

RD 13

VCC20

D2 3

68 OHM @ 100MHz

FB7

68 OHM @ 100MHz

FB7

R98 22.1R98 22.1

R113
10K
R113
10K

R112
10K
R112
10K

J12
USB_CONN

J12
USB_CONN

VCC 1
-DATA 2
+DATA 3

GND 4

GND15

GND26
C106
47pF
C106
47pF

C54
10nF
C54
10nF

R102 22.1R102 22.1

U10

SN74AHC541PW

U10

SN74AHC541PW
Y8 11

A12
A23
A34
A45
A56
A67
A78
A89
GND10 Y7 12Y6 13Y5 14Y4 15Y3 16Y2 17Y1 18OE2 19OE11 VCC 20

+ C53
4.7uF
20V

+ C53
4.7uF
20V

R99 22.1R99 22.1

C52
.1uF
C52
.1uF

C104
.1uF
C104
.1uF

C103
.1uF
C103
.1uF

R107 100R107 100

C105
47pF
C105
47pF



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

+3.3V_IN

+1.8V_IN +5V_IN

+3.3V_DAC

+1.8VCLK

+1.8VD +5VA

+3.3V_LOGIC

IOVDD

+1.8VD1

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

6 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

6 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

6 7Wednesday, December 23, 2009

J16

BANANA_JACK_BLK
GND

J16

BANANA_JACK_BLK
GND

+
C110
47uF
10V
20%

+
C110
47uF
10V
20%

D7
MBRB2515L
D7
MBRB2515L

1 2 3
4

C43
1uF
20%
25V

C43
1uF
20%
25V

+
C47
47uF
10V
20%

+
C47
47uF
10V
20%

68 OHM @ 100MHz

FB2

68 OHM @ 100MHz

FB2

68 OHM @ 100MHz

FB1

68 OHM @ 100MHz

FB1

C111
1uF
20%
25V

C111
1uF
20%
25V

C38
.01uF
C38
.01uF

C44
1uF
20%
25V

C44
1uF
20%
25V

+
C51
47uF
10V
20%

+
C51
47uF
10V
20%

C41
.01uF
C41
.01uF

J10

BANANA_JACK_BLK
GND

J10

BANANA_JACK_BLK
GND

C39
.01uF
C39
.01uF

+
C49
47uF
10V
20%

+
C49
47uF
10V
20%

C45
1uF
20%
25V

C45
1uF
20%
25V

68 OHM @ 100MHz

FB12

68 OHM @ 100MHz

FB12

J15

BANANA_JACK_RED
+3.3V

J15

BANANA_JACK_RED
+3.3V

+
C48
47uF

10V
20%

+
C48
47uF

10V
20%

C34
1uF
20%
25V

C34
1uF
20%
25V

D6
MBRB2515L
D6
MBRB2515L

1 2 3
4

C109
.01uF
C109
.01uF

+ C126
10uF
10V

+ C126
10uF
10V

+
C35
47uF
10V
20%

+
C35
47uF
10V
20%

C37
.01uF
C37
.01uF

68 OHM @ 100MHz

FB6

68 OHM @ 100MHz

FB6

D5
MBRB2515L
D5
MBRB2515L

1 2 3
4

J11

BANANA_JACK_RED
+5VA

J11

BANANA_JACK_RED
+5VA

C42
1uF
20%
25V

C42
1uF
20%
25V

+ C112
10uF
10V

+ C112
10uF
10V

J13

BANANA_JACK_RED
+1.8VD

J13

BANANA_JACK_RED
+1.8VD

68 OHM @ 100MHz

FB5

68 OHM @ 100MHz

FB5

C46
1uF
20%
25V

C46
1uF
20%
25V

+
C50
47uF
10V
20%

+
C50
47uF
10V
20%

C40
.01uF
C40
.01uF

+ C115
10uF
10V

+ C115
10uF
10V

C36
.01uF
C36
.01uF

J14

BANANA_JACK_BLK
GND

J14

BANANA_JACK_BLK
GND

68 OHM @ 100MHz

FB3

68 OHM @ 100MHz

FB3

68 OHM @ 100MHz

FB4

68 OHM @ 100MHz

FB4



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

+3.3V_DAC

+3.3V_DAC

+3.3V_DAC

+3.3V_DAC

+3.3V_DAC

+3.3V_DAC

+3.3V_LOGIC

+3.3V_LOGIC+3.3V_LOGIC

IOUTA2SH1,3

IOUTA1SH1,3

IOUTB2SH1,3

IOUTB1SH1,3

REF_OSC SH4

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

7 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

7 7Wednesday, December 23, 2009

Title

Size Document Number Rev

Date: Sheet of

D

DAC5668/88/89 EVM
B

7 7Wednesday, December 23, 2009

MECHANICAL PARTS FOR J24

U2

SN74LVC1G125DBVR

U2

SN74LVC1G125DBVR

OE1

A2
Y 4

GND3

VCC 5

R57

0
DNI

R57

0
DNI

C59

.01uF

C59

.01uF

MS A

DE N

J22
EXT_REF_CLK

MS A

DE N

J22
EXT_REF_CLK

1

5234

R75
100
R75
100

x_SCREW6

SCREW PANHEAD 4-40 x 3/8

x_SCREW6

SCREW PANHEAD 4-40 x 3/8

x_SCREW4

SCREW PANHEAD 4-40 x 3/8

x_SCREW4

SCREW PANHEAD 4-40 x 3/8

R36
100
R36
100

M
S

A

J3
IOUTB2

DNI

M
S

A

J3
IOUTB2

DNI

1

2345

R34

0
DNI

R34

0
DNI

x_STANDOFF3

STANDOFF ALUM HEX 4-40 x .500

x_STANDOFF3

STANDOFF ALUM HEX 4-40 x .500

C102
.1uF
C102
.1uF

M
S

A

J9

IOUTA1
M

S

A

J9

IOUTA1
1

2345

R72
0
DNI

R72
0
DNI

x_SCREW5

SCREW PANHEAD 4-40 x 3/8

x_SCREW5

SCREW PANHEAD 4-40 x 3/8

C80
100pF
C80
100pF

M
S

A
J8
IOUTA2

DNI

M
S

A
J8
IOUTA2

DNI

1

2345

R2

22.1

R2

22.1

C55

1000pF

C55

1000pF

JP1

REF_CLK
(SHUNT 2-3)

JP1

REF_CLK
(SHUNT 2-3)

1

3
2

R73
60.4
DNI

R73
60.4
DNI

L10
56nH
DNI

L10
56nH
DNI

1
2

R74
100
R74
100

x_SCREW3

SCREW PANHEAD 4-40 x 3/8

x_SCREW3

SCREW PANHEAD 4-40 x 3/8

R81

10K

R81

10K

R45

0
DNI

R45

0
DNI

R1
1K
R1
1K C1

.1uF
C1
.1uF

R35
60.4
DNI

R35
60.4
DNI

C82
.1uF
C82
.1uF

x_STANDOFF2

STANDOFF ALUM HEX 4-40 x .500

x_STANDOFF2

STANDOFF ALUM HEX 4-40 x .500

R85
0
R85
0

R68

0
DNI

R68

0
DNI

TP1

Blk
GND
TP1

Blk
GND

+ C81
10uF
10V

+ C81
10uF
10V

R37
100
R37
100

U7

OSC-VECTRON
DNI

U7

OSC-VECTRON
DNI

REF1
GND 2VDD4 OUT 3

U6

OSC-VECTRON

U6

OSC-VECTRON

REF1
GND 4VDD8 OUT 5

R42
0
DNI

R42
0
DNI

M
S

A
J4
IOUTB1

M
S

A
J4
IOUTB1

1

2345

x_SCREW1

SCREW PANHEAD 4-40 x 3/8

x_SCREW1

SCREW PANHEAD 4-40 x 3/8

x_SCREW2

SCREW PANHEAD 4-40 x 3/8

x_SCREW2

SCREW PANHEAD 4-40 x 3/8

L1
56nH
DNI

L1
56nH
DNI

1
2

R3
1K
R3
1K

TP6

Blk
GND
TP6

Blk
GND

TP4

Blk
GND
TP4

Blk
GND

TP8

Blk
GND
TP8

Blk
GND

C79
.1uF
C79
.1uF

R71

0
DNI

R71

0
DNI

TP2

Blk
GND
TP2

Blk
GND

TP10

Blk
GND
TP10

Blk
GND

R95
0
R95
0

R39
60.4
DNI

R39
60.4
DNI

T2

ADT4-1T

T2

ADT4-1T
3

2

16

5

4

R41

0
DNI

R41

0
DNI

68 OHM @ 100MHz

FB9

68 OHM @ 100MHz

FB9

R55

0
DNI

R55

0
DNI

x_STANDOFF1

STANDOFF ALUM HEX 4-40 x .500

x_STANDOFF1

STANDOFF ALUM HEX 4-40 x .500

x_STANDOFF4

STANDOFF ALUM HEX 4-40 x .500

x_STANDOFF4

STANDOFF ALUM HEX 4-40 x .500

R80

10K

R80

10K

R76
60.4
DNI

R76
60.4
DNI

T1

ADT4-1T

T1

ADT4-1T

3

2

16

5

4

R77

0
DNI

R77

0
DNI


